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: 1CH / EA
@ A2 Gauge
: 350Q(Bridge voltage 10V), 120Q(Bridge voltage 5V)
(3 Bridged &t
D HE DC BV, 10V(Dip switch «1EH)
oy :
5V -> 0 ~ 2000 pstrain
v = 0 ~ 4000 pstrain

+10 %
e
10 pstrain
£

: DC 0 ~ 10V or 4~20mA
@ "H&as&d

: 0.02% F.S
0 S S4

: DC~20kHz (-3dB)
@ Low Pass Filter

: 10Hz, 100Hz, 1kHz, PASS
@2 AIE22: Y2

: =10 ~ 4+60°C




@ 2% Drift
F&EOlS —> £1 pstrain/°C Ol LK
2 EHG > +0.05% F.S/°C Ol LK
A
: DC 24V

@ CABLE GRAND
: CABLE @7 Olat

3. AtEHE

@ Filter &Z& (ON =1, OFF = 0)

DIP SWITCH 10Hz 100Hz 1kHz PASS
SW8 1 0 0 0
SW7 0 1 0 0
SW6 0 0 1 0
(@ Bridge Voltage =& (ON =1, OFF = 0)
DIP SWITCH 10V 5V
Swe 1 0
® Gain =& (ON = 1, OFF = 0)
DIP SWITCH X1 X100 X200 X300 X400 X500 X600 X700
SW1(X100) 0 1 0 1 0 1 0 1
SW2(X200) 0 0 1 1 0 0 1 1
SW3(X400) 0 0 0 0 1 1 1 1
SW4(X800) 0 0 0 0 0 0 0 0
DIP SWITCH X800 X900 X1000 X1100 X1200 X1300 X1400 X1500
SW1(X100) 0 1 0 1 0 1 0 1
SW2(X200) 0 0 1 1 0 0 1 1
SW3(X400) 0 0 0 0 1 1 1 1
SW4(X800) 1 1 1 1 1 1 1 1
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